Pi0 Mass (E1, E2 > 0.5 GeV, lterationQ)

Entries 247438

> F x2 | ndf 9690 / 194

38000 0

o F 7312

o%ooo — 0.1341

© E 0.009105

6000 — -4.363e+04

- 1.184e+04
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Pi0 Mass (E1, E2 > 0.5 GeV, lterationl)

Entries 249948
> F X2 / ndf 9592 / 194
3B000|— 0
g - 7358
7000 — 0.1346
© F 0.009117
6000 — -4.521e+04
- 1.231e+04
5000 -321.5
4000 —
3000 f—
2000 f—
1000 f—
0 = L T A T
0 0.05 0.25 0.3

2y Mass (GeV)



Pi0 Mass (E1, E2 > 0.5 GeV, lteration2)

Entries 249027

> F x2 / ndf 9799 / 194

38000 0

g F 7355

3000 0.1344

© F 0.009092

6000~ —4.484e+04

B 1.219e+04
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4000 f—
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2000 f—
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: | | | i 1 | | | L i
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Pi0 Mass (E1, E2 > 0.5 GeV, lteration3)

Entries 248166
> F x2 | ndf 9679 / 194
38000|— 0
g2 F 7330
37000~ 0.1345
O F 0.009093
6000 — -4.456e+04
- 1.212e+04
5000~ —314.4
4000 f—
3000 f—
2000 f—
1000 f—
0 = L1 J-’-".“‘T‘Tﬂ T» N R
0 0.05 0.25 0.3
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Pi0 Mass (E1, E2 > 0.5 GeV, lteration4)

Entries 247393

> F x2 / ndf 9554 / 194

38000 0

g E 7303

o%ooo — 0.1345

© F 0.009092
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0 0.25 0.3

2y Mass (GeV)



Pi0 Mass (E1, E2 > 0.5 GeV, lteration5)

Entries 248244

> X2 / ndf 9747 1 194

38000~ 0

g - 7349

7000 0.1344
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Pi0 Mass (E1, E2 > 0.5 GeV, lteration6)

Entries 249297

> X2 / ndf 9647 / 194

38000/ 0

g - 7373

Z000— 0.1345

© E 0.009066

6000 — -4.525e+04
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Pi0 Mass (E1, E2 > 0.5 GeV, lteration?)

Entries 249211

> E X2 | ndf 9796 / 194

23000 0

2k 7378

000 0.1344

© r 0.009065

6000 — -4.455e+04

= 1.213e+04

5000 — -314
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2000 f—
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0 - I L
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Pi0 Mass (E1, E2 > 0.5 GeV, lteration8)

Entries 249368

> F x2 | ndf 9934 / 194

38000~ 0

g - 7388

Z000— 0.1345

S = 0.00906

6000 — -4.432e+04

= 1.205e+04

5000 — -309.2
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2000 f—
1000 f—
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Pi0 Mass (E1, E2 > 0.5 GeV, lteration9)

Entries 249137

> n X2 / ndf 0021/ 194

28000 0

Z000— 0.1345

© E 0.009066

6000 — -4.409e+04

= 1.198e+04

5000 — -305.2
4000 f—
3000 f—
2000 f—
1000 f—

0 - L [
0 0.05 0.25 0.3
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Pi0 Mass (E1, E2 > 0.5 GeV, Iteration10)

Entries 245538

> F X2 | ndf 9553 / 194

38000|— 0

g 7273

57000 0.1345

©  F 0.009046

6000 — -4.457e+04

- 1.215e+04

5000 — -319.8
4000 f—
3000 f—
2000 f—
1000 f—

0 = N el ol
0 0.05 0.25 0.3
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Pi0 Mass (E1, E2 > 0.5 GeV, Iteration11)

Entries 249137
> F X2 / ndf 9759 / 194
38000~ 0
2 - 7390
000 0.1344
© r 0.009039
6000 — -4.496e+04
- 1.224e+04
5000 -319.4
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1000 f—
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Pi0 Mass (E1, E2 > 0.5 GeV, Iteration12)

Entries 248498

> - X2 / ndf 9773/ 194

28000~ 0

2 F 7371

7000 — 0.1345

© 0.009042

6000 [— -4.466e+04

= 1.216e+04

5000 — -316.1
4000 f—
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2000 f—
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Pi0 Mass (E1, E2 > 0.5 GeV, Iteration13)

Entries 248950
> x2 / ndf 0949 / 194
38000 0
g - 7387
7000 0.1344
© 0.009056
6000— -4.384e+04
- 1.192e+04
5000— -303.4
4000 f—
3000 f—
2000 f—
1000 f—
0 : | | | | J" :>I 3 | | | | | | | | | | | | | | | I L l i | | |
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Pi0 Mass (E1, E2 > 0.5 GeV, Iteration14)

Entries 246951
> F X2 | ndf 9991 / 194
3B000|— 0
g 7328
7000 — 0.1345
© E 0.009066
6000 -4.323e+04
- 1.175e+04
5000 -297.6
4000 —
3000 f—
2000 f—
1000 f—
0 = L | | e R T
0 0.05 0.1 0.15 0.2 0.25 0.3
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Pi0 Mass (E1, E2 > 0.5 GeV, Iteration15)

Entries 249260

> F X2 | ndf 9874 / 194

28000~ 0

g - 7397

000 0.1344

© r 0.009049

6000 — -4.442e+04

= 1.209e+04

5000 = -311.8
4000 f—
3000 f—
2000 f—
1000 f—
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Pi0 Mass (E1, E2 > 0.5 GeV, Iteration16)

Entries 234652
2000 X2 / ndf 9716/ 194
=70 0
27000 6972
3 r 0.1345
5000 0.009061
= -4.091e+04
5000 — 1.109e+04
- -277.9
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0 - Ly T [ S
0 0.05 0.25 0.3
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Pi0 Mass (E1, E2 > 0.5 GeV, Iteration17)

Entries 249284

> F X2 / ndf 1.053e+04 / 194

38000 — 0

2 = 7396

000 — 0.1345

© = 0.009081

6000 — —-4.293e+04

- 1.162e+04

5000 = —-286.9
4000 f—
3000 f—
2000 f—
1000 f—

0 - Lo R R T R
0 0.05 0.25 0.3
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2y fit mean vs. Iteration
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Mass Spectum for final iteration (E1

E2 > 500 MeV)

Entries 249284
F X2/ ndf  1.053e+04 /194
8000 - 0
o 7396
7000 0.1345
E 0.009081
6000 F— —-4.293e+04
o 1.162e+04
5000 = -286.9
4000
3000 f—
2000 F~ it o/p=6.754 £0.019 %
1000 f—
N [P
% 0.05 0.25 0.3
Mass Spectum for final iteration (E1, E2 > 900 MeV)
Entries 36697
1600 |— )(2 / ndf 1606 / 190
o 0
r 0.1344
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o -5023
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400 |- : _ o
n it o/ =6.039 +0.038 %
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%

Mass Spectum for final iteration (E1

E2 > 700 MeV)
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3500 - X2 / ndf 3842/ 193
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3000~ 0.1344
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Mass Spectum for final iteration (E1, E2 > 1100 MeV)
Entries 15781
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E 0
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N el
%




Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)
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